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Arduino IDE F2={
#include <SoftwareSerial.h>
#include <Wire.h>
#define fsr0_pin AO
#define fsrl_pin Al
#define fsr2_pin A2
int mode =0;
intin_times = 0;
int out_times = 0;
int stand_times = 0;
int test_times = 0;
int stand_in_times = 0;
int stand_out_times = 0;
int judge_mode_standard = 500;
int walking_in_standard = -300;
int walking_out_standard = 300;
int standing_in_standard = -300;
int standing_out_standard = 300;
int A[20] = {0};
int B[20] = {0};
int C[20] = {0};

SoftwareSerial BTSerial(5, 6);
void send()
{

if ( test_times == 3)

{

byte situation [1];
if (in_times>2)
{

situation[0] = 100;

else if (out_times >2)

Wi

/13| F
/3| P e
I/ SRR
1TEFH ) GRS RSB
J/EFESN TR AR
/P DLHER B (61T or 2517)

JTRPET RN R
AEHESN T

1P DL BB L 1
/P DS EL R A
/7 LTI A\
1RSI
I F
/R R\
J/TEFERESL I
Vi NG
s e ING T
/7B I A (20 ()
1179\ ERIBE 5 B 20 )
/BT RIS IS 20 ()
IR
/e E R or T S8 % e it

/& 3

[T —(EAE R A B
/18 3 RHE 2 TR/

/1 FHEIEE R 100 FIET R\
/& 3 RHE 2 TOAFHM

{
situation[0] = 101; /1R E U] 101 HET Ryd R\
}
else
{
situation[0] = 102; [/ F R U] 102 HE Ry I
}
in_times = 0; [/EFEE
out_times =0;
stand_in_times = 0;
stand_out_times = 0; [/EFEE
BTSerial.write(situation[0]); //EHEE
}
void test() /FERURHIESEE 18 E 2 k=
{
for(inta=0;a<18;a++) [/EEIT 18 X
{
Ala] = analogRead(fsr0_pin);
B[a] = analogRead(fsrl_pin);
C[a] = analogRead(fsr2_pin);
if (C[a] > judge_mode_standard)  //%HlFE ECHIBEBUE KA CHE E
{
stand_times++; [/RIERZE R+ 1
delay(50); /15 0.05 Ph3ghdT—H
}

}
void setup()

BTSerial.begin(9600); /3 EEE 2R
Serial.begin(9600); /3% E 5 IRER
void loop()
if ( BTSerial.available() >0) [ EE R E R A EEEEL

/EEEFSE R

[IE BRI Ry a(PRaalIERat sz
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switch (BTSerial.read())
{

case 'a":



test(); J/FT test BRI

test_times++; [1RE R E+1
if (mode==0) //mode0 A EF&EE
{
int b = A[0] + B[O]; J1ERES N GE R BCHIE+ A BRI R —4H |
int team =0;
for (intc=0;c<18;c++)
{

if (A[c] +B[c]>b)
{

b = A[c] + B[c];

team =¢;
}
} JIARHS N GE RS EIEE+ A ) BRI B R Ay —4H 1
if (Alteam] - B[team] > walking_out_standard ) //FI| FI I A 2 4 1Y & S T RGEE ) 22 HIE 2 &

Vi ZAVAN
{

out_times = out_times + 1;

}
else if ( Alteam] - B[team] < walking_in_standard ) //7| iz A 4B 1Y RE 6 ARG EE 22 HIE RS

VT2 VAN
{
in_times = in_times +1;
} }
else [1FEFE RS — BE T
{
for (intd=0;d<18; d++) J/EEHT 18 k.
if ( B[d] - C[d] > standing_in_standard ) /IR —4H ARG T BB EE ) 72 2 5 RN\
{
stand_in_times = stand_in_times + 1;
}
else if ( B[d] - C[d] < standing_out_standard ) //Fl| i f5—4H AV 17 ROREER )72 FIETE 4 RN\
{
stand_out_times = stand_out_times + 1;
}
}
if ( stand_in_times > 15) /1735 18 $HE(E P kE A 15 NS/ RIGREA /\ R Boin—
{
in_times = in_times +1;
stand_in_times = 0;
}
else if ( stand_out_times > 15) /175 18 4HBE HREAE 15 ARSI\ BRI N A\ EU—
{
out_times = out_times + 1;
stand_out_times = 0;
} }
send(); /13T send =
if ( test_times ==3) //5E R — B REREE CHIE O 3 2KHF)
{
if (stand_times > 12 ) [/ RRREHEEL A 12
{
mode = 1; /55% ERE Ryl 1T
}
else
{
mode = 0; 113 TE R R
}
}
stand_times = 0; JIEFETEN\KE
test_times = 0; [/EFE R
}
while ( BTSerial.available() == 0); [EEFAER O] EEEERES o 45HOHER
break; //Bk AR
case 'b":
{ [ EETEEETE R R bl EHERAR AL T
in_times = 0; [/EFEE R\
out_times = 0; J/EHETEIN KB
stand_times = 0; /s R AR e
test_times = 0; [/EHETE R
stand_in_times = 0; [/ERTETE IR A\
stand_out_times = 0; J/EHETEIRILIN AR B
break;
}
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